
Ex Ex

DIMENSIONS (Metric-millimetre-mm)

X.X

X.XX

 COPYRIGHT RESERVED

REVISION NUMBER

UNLESS OTHERWISE SPECIFIED

SIZE A3

DRAWN BY

    ALL SURFACES TO

UNLESS OTHERWISE NOTED

REVISION DATE REVISION DESCRIPTIONREVISION BY

PRODUCT NAME

APPROVED BY

DRAWING NUMBER

Ex124B_C000  

A.CASTLE
C.TAYLOR 1 20/04/2023 AC NEW REVISION

KonNx Africa (Pty) Ltd

Drawings
Description Drawing Number

12kV 400AMP COUPLER & ADAPTER SYSTEM Ex124B-C000
BODY ASSEMBLIES Ex124B-C001

RETAINING RINGS & REMOVABLE FLANGE Ex124B-C002
LIVE LINE INDICATORS Ex124B-C003
ADAPTOR FLANGE Ex124B-C004

UNARMOURED GLAND Ex124B-C005
ARMOURED GLAND Ex124B-C006

INSULATED END COVER Ex124B-C007
LABELS Ex124B-C009

FASTENER SCHEDULE Ex124B-C010
EARTHING DETAILS Ex124B-C012
EARTHING DETAILS Ex124B-C013

FIBER OPTICS Ex124B-C014

5

8

6

1

4

7

PARTS
ITEM DESCRIPTION
1 STD BODY
2 RF LL BODY
3 RF LL FO BODY
4 ADAPTOR FLANGE
5 UNARMOURED GLAND
6 ARMOURED GLAND
7 INSULATED END COVER
8 PHASE CONNECTORS & PILOT

2

3

12kV 400AMP COUPLER &
ADAPTOR SYSTEM
CUSTOMER COPY

Morne
New Stamp



SIDE VIEW STAINLESS

C-C ( 1 : 1 )

SECTION A-A

FLAMEPROOF PATH DETAIL

F-F ( 1 : 1 )

SECTION B-B

FLAMEPROOF PATH DETAIL

H-H ( 0.30 )

J-J ( 0.30 )

SECTION A-A

BACK FLANGE VIEW

DETAIL L

SECTION VIEW

NON LIVE LINE

SECTION VIEW

LIVE LINE/REMOVABLE FLANGE

DETAIL C

METHOD OF RETENTION

FOR FACE SEALING

C

C

E

F

F

G

A

A

B

B

AM

AM

SIDE VIEW

BACK FLANGE VIEW

L

ED

ED

EE

EE

C

Ex Ex

DIMENSIONS (Metric-millimetre-mm)

X.X

X.XX

 COPYRIGHT RESERVED

REVISION NUMBER

UNLESS OTHERWISE SPECIFIED

SIZE A3

DRAWN BY

    ALL SURFACES TO

UNLESS OTHERWISE NOTED

REVISION DATE REVISION DESCRIPTIONREVISION BY

PRODUCT NAME

APPROVED BY

DRAWING NUMBER

Ex124B_C001  

A.CASTLE
C.TAYLOR 1 20/04/2023 AC NEW REVISION

KonNx Africa (Pty) Ltd

9.00 - 0.00
5.00+l = 

FLAMEPROOF PATH

25.00 - 0.00
5.00+L = 

FLAMEPROOF PATH

168.03.0

223.05.0

Handles Cast Into Body

18.97 - 19.02
Contact Pin

8.00 - 0.05
0.05+

Pilot Pin

17.10

16.0 Guide Pin

Filler Plug

Flameproof Path
Refer to
Section A-A & B-B
Ex124B-002
Ex124B-003
Ex124B-004

16.9 - 0.0
4.0+ 47.0

Sealing Ring
Silicone Rubber

23.4

12.50 - 0.00
0.27+4 HOLES 

11.0 - 1.0
1.0+

11.0 - 1.0
1.0+

M8 x 1.25 6H THRU
3 PLACES

NOTE:
Brass Coupler Has
Handles Bolted On

2 Holes
Drill 8.5 x 15 Deep
Tap M10 x 1.5 x 12 Deep
Holes Aligned With Boss
thickness of surrounding
material >= 3.0

Retaining RingSealing Ring

Body

5.90

FACE VIEW

NON LIVE LINE

FACE VIEW

LIVE LINE/REMOVABLE FLANGE

SIDE VIEW

NON LIVE LINE

SIDE VIEW

LIVE LINE

17.00 - 1.00
4.00+ 17.00 - 1.00

4.00+

10.000.20
REMOVABLE FLANGE

SEALING RING

RETAINING RING

BODYREMOVABLE FLANGE

FLAMEPROOF PATH
REFER TO
SECTION A-A & B-B12.50 - 0.00

0.27+

6 HOLES EQUISPACED

PDC 216.000.50

FLAMEPROOF PATH

6.3

 0.25

11.00 - 1.00
2.00+11.00 - 1.00

2.00+

BODY ASSEMBLIES
CUSTOMER COPY

Morne
New Stamp



FRONT VIEW

EARTH PILOT RETAINING RING

SIDE VIEW

FRONT VIEW

STD RETAINING RING WITH

INTERNAL GUIDE PIN

SIDE VIEW

FRONT VIEW

FIBRE OPTIC RETAINING RING

SIDE VIEW

FRONT VIEW

STD RETAINING RING

SIDE VIEW

FRONT VIEW

REMOVABLE FLANGE

REAR VIEW

REMOVABLE FLANGE

SECTION A-A

4 PLACES

AA

Ex Ex

DIMENSIONS (Metric-millimetre-mm)

X.X

X.XX

 COPYRIGHT RESERVED

REVISION NUMBER

UNLESS OTHERWISE SPECIFIED

SIZE A3

DRAWN BY

    ALL SURFACES TO

UNLESS OTHERWISE NOTED

REVISION DATE REVISION DESCRIPTIONREVISION BY

PRODUCT NAME

APPROVED BY

DRAWING NUMBER

Ex124B_C002  

A.CASTLE
C.TAYLOR 1 20/04/2023 AC NEW REVISION

KonNx Africa (Pty) Ltd

EARTH PILOT MOUNT TUBE

6.3

 0.25

 0.25

6.3

10.000.20

RETAINING RINGS
REMOVABLE FLANGE
CUSTOMER COPY

Morne
New Stamp



VIEW107

SECTION VIEW

LIVE LINE INDICATOR

 

SECTION B-B

LIVE LINE BULLET ASSEMBLY

SECTION EN-EN

 

TOP VIEW

SECTION C-C

LIVE LINE BUNG

SECTION A-A

LOW PROFILE LIVE LINE INDICATOR ASSEMBLY

 

SECTION VIEW

SECTION VIEW

BB

EN EN

C C AAD D

Ex Ex

DIMENSIONS (Metric-millimetre-mm)

X.X

X.XX

 COPYRIGHT RESERVED

REVISION NUMBER

UNLESS OTHERWISE SPECIFIED

SIZE A3

DRAWN BY

    ALL SURFACES TO

UNLESS OTHERWISE NOTED

REVISION DATE REVISION DESCRIPTIONREVISION BY

PRODUCT NAME

APPROVED BY

DRAWING NUMBER

Ex124B_C003  

A.CASTLE
C.TAYLOR 1 20/04/2023 AC NEW REVISION

KonNx Africa (Pty) Ltd

INSULATOR
FLAME PATH
THREAD M25x1.5 6H

REMOVABLE FLANGE

23.993.00

FLAME PATH
THREAD M25x1.5 - 6g

19.00 - 5.00
3.00+

HOUSING MATERIAL
BRASS OR STAINLESS STEEL

FLAME PATH
JOINT SEALED WITH

GENERAL PURPOSE SILICONE
CLEAR/TRANSLUCENT

BODY

COPPER STRIP
OR
SEMI CONDUCTIVE MATERIAL

19.00 - 5.00
3.00+

TOP VIEW

FLAME PATH
THREAD M25x1.5 - 6g

BUNG MATERIAL
BRASS OR STAINLESS STEEL

TOP VIEW

HOUSING MATERIAL
BRASS OR STAINLESS STEEL

19.00 - 5.00
3.00+

FLAME PATH
THREAD M25x1.5 - 6g

O-RING

13.50 - 1.00
2.00+FLP

16.00 - 0.05
0.10+FLP

LIVE LINE INDICATOR
CUSTOMER COPY

13.50 - 1.00
2.00+FLP

15.99 - 0.29
0.01+FLP

HOUSING MATERIAL
BRASS OR STAINLESS STEEL

16.00 - 0.05
0.10+FLP

O-RING

13.50 - 1.00
2.00+FLP

15.99 - 0.29
0.01+FLP

19.00 - 5.00
3.00+

FLAME PATH
THREAD M25x1.5 - 6g

13.50 - 1.00
2.00+FLP

SECTION D-D

LOW PROFILE LIVE LINE INDICATOR ASSEMBLY

WITH IMPACT PROTECTION

Morne
New Stamp



AH-AH ( 1 : 1 )

SECTION B-B

FLAMEPROOF PATH DETAIL

AK-AK ( 1 : 1 )

SECTION A-A

FLAMEPROOF PATH DETAIL

BC-BC ( 0.35 )

BD-BD ( 0.35 )

BG ( 0.35 )

BN-BN ( 0.35 )

BP-BP ( 0.35 )

BR ( 0.70 : 1 )

BT ( 0.70 : 1 )

BV-BV ( 1 : 4 )

SECTION C-C

FLAMEPROOF PATH DETAIL

BY-BY ( 1 : 4 )

SECTION D-D

FLAMEPROOF PATH DETAIL

 

SECTION C-C

AH

AH

AJ

AK

AK

AL

B

B

A

A

SIDE VIEW

C

C

D

D

BR

BT

BV

BV

BW

BY

BY

CA

C

C

Ex Ex

DIMENSIONS (Metric-millimetre-mm)

X.X

X.XX

 COPYRIGHT RESERVED

REVISION NUMBER

UNLESS OTHERWISE SPECIFIED

SIZE A3

DRAWN BY

    ALL SURFACES TO

UNLESS OTHERWISE NOTED

REVISION DATE REVISION DESCRIPTIONREVISION BY

PRODUCT NAME

APPROVED BY

DRAWING NUMBER

Ex124B_C004  

A.CASTLE
C.TAYLOR 1 20/04/2023 AC NEW REVISION

KonNx Africa (Pty) Ltd

ADAPTOR FLANGE

FILLER BUNG

NYLON CABLE GLAND

ADAPTOR CAP

8.00 - 0.00
5.00+l = 

FLAMEPROOF PATH

12.50 - 0.00
5.00+L = 

FLAMEPROOF PATH

BODY
ADAPTOR FLANGE

BODY

12.50 - 0.00
0.27+

6 PLACES EQUISPACED

 PCD 216.0 0.50

FLAMEPROOF PATH
REFER TO SECTIONS A-A & B-B

SIDE VIEW

FIXED PLATE FIXED PLATE

ADAPTOR FLANGE

ADAPTOR FLANGE

25.00 - 0.00
5.00+L = 

FLAMEPROOF PATH

9.00 - 0.00
5.00+l = 

FLAMEPROOF PATH

11.00 + 1.00
2.00+

17.00 - 1.00
4.00+

6.3

 0.20

STEPPED GROMMIT

FRONT VIEW

ADAPTOR FLANGE

REAR VIEW

ADAPTOR FLANGE

ISOMETRIC VIEW

ADAPTOR FLANGE

EXPLODED

12.50 - 0.00
0.27+

4 PLACES

6.3
 0.25

ADAPTOR FLANGE
CUSTOMER COPY

Morne
New Stamp



Y-Y ( 1 : 1 )

AA-AA ( 1 : 1 )

SECTION A-A

FLANGE

FLAMEPROOF PATH DETAIL

SECTION B-B

FLANGE

FLAMEPROOF PATH DETAIL

SIDE VIEW

AU-AU ( 0.4 )

AW-AW ( 0.4 )

SECTION VIEW

FILLER BUNG

FLAMEPROOF PATH DETAIL

 

CP-CP ( 0.3 )

DD-DD ( 0.4 )

SECTION VIEW

DK-DK ( 0.4 )

Y

Y

AA

AA

AB

AC

B

B

A

A

SIDE VIEW

BL

BM

CP

CP

A

A

DE

B

B

Ex Ex

DIMENSIONS (Metric-millimetre-mm)

X.X

X.XX

 COPYRIGHT RESERVED

REVISION NUMBER

UNLESS OTHERWISE SPECIFIED

SIZE A3

DRAWN BY

    ALL SURFACES TO

UNLESS OTHERWISE NOTED

REVISION DATE REVISION DESCRIPTIONREVISION BY

PRODUCT NAME

APPROVED BY

DRAWING NUMBER

Ex124B_C005  

A.CASTLE
C.TAYLOR 1 20/04/2023 AC NEW REVISION

KonNx Africa (Pty) Ltd

HOUSING

12.50 - 0.00
5.00+L = 

FLAMEPROOF PATH

8.00 - 0.00
5.00+l = 

FLAMEPROOF PATH

Rubber Compression Ring
50 ID - p/n 3067
56 ID - p/n 3068
62 ID - p/n 3069
68 ID - p/n 3070
74 ID - p/n 3071
80 ID - p/n 3072
86 ID - p/n 3073
92 ID - p/n 3074
 
 

FILLER BUNG

114.00

114.00

HOUSINGBODY
BODY HOUSING

Flameproof Path
Refer Sections A-A B-B

8.00 - 0.00
5.00+ HOUSING

M40x1.5 6H

40.400.30

11.00 + 1.00
2.00+

3.2

 0.25

SECTION A-A

Smooth Transition
For Cable Entry

6.3

 0.20

FLAMEPROOF PATH
REFER TO SECTIONS A-A & B-B

COMPRESSION RING FASTENERS
TORQUED TO 25Nm

9.00 - 1.00
5.00+

CLAMP FASTENERS

CLAMP

   FLAMEPROOF PATH
REFER TO SECTION A-A

FOR FILLER BUNG DETAIL

UNARMOURED CABLE COMPRESSION CABLE
KIT TO SUIT CABLE O.D

GLAND I.D COMPRESSION RING SIZE
45-50 50-68
50-56 50-68
56-62 50-68
62-68 50-68
68-74 74-80
74-80 74-80
80-86 86-92
86-92 86-92

COMPRESSION GLAND

M40x1.5 6H

REAR VIEW

UNARMOURED HOUSING

ISOMETRIC VIEW

UNARMOURED GLAND

EXPLODED

12.50 - 0.00
0.27+

4 PLACES

COMPRESSION RING

UNARMOURED GLAND
CUSTOMER COPY

Morne
New Stamp



M-M ( 1 : 1 )

SECTION B-B

FLANGE

FLAMEPROOF PATH DETAIL

P-P ( 1 : 1 )

SECTION A-A

FLANGE

FLAMEPROOF PATH DETAIL

V ( 1 : 2 )

W ( 1 : 2 )

AR-AR ( 0.4 )

AT-AT ( 0.4 )

BF ( 0.4 )

SECTION VIEW

FILLER BUNG

FLAMEPROOF PATH DETAIL

 

SECTION A-A

SECTION VIEW

DH-DH ( 0.4 )

DJ-DJ ( 0.4 )

M

M

N

P P

R

V

W

A

A

B

B

SIDE VIEW

BJ

BK

CR

CR

DF

A

A

B

B

Ex Ex

DIMENSIONS (Metric-millimetre-mm)

X.X

X.XX

 COPYRIGHT RESERVED

REVISION NUMBER

UNLESS OTHERWISE SPECIFIED

SIZE A3

DRAWN BY

    ALL SURFACES TO

UNLESS OTHERWISE NOTED

REVISION DATE REVISION DESCRIPTIONREVISION BY

PRODUCT NAME

APPROVED BY

DRAWING NUMBER

Ex124B_C006  

A.CASTLE
C.TAYLOR 1 20/04/2023 AC NEW REVISION

KonNx Africa (Pty) Ltd

12.50 - 0.00
5.00+L = 

FLAMEPROOF PATH

8.00 - 0.00
5.00+l = 

FLAMEPROOF PATH

FILLER BUNG

Rubber Compression Ring
50 ID - p/n 3067
56 ID - p/n 3068
62 ID - p/n 3069
68 ID - p/n 3070
74 ID - p/n 3071
80 ID - p/n 3072
86 ID - p/n 3073
92 ID - p/n 3074
 

HOUSING

114.00

114.00

M40x1.5 6H
 

SIDE VIEW

BODY HOUSING BODY HOUSING

CONICAL TOP

CLAMP

Flame Path

FLAMEPROOF PATH
REFER TO SECTION A-A 
FILLER BUNG DETAIL

8.00 - 0.00
5.00+

HOUSING

40.40 0.30

11.00 + 1.00
2.00+

3.2

 0.25

Smooth Transition
For Cable Entry

 0.20

6.3

FLAME PATH

COMPRESSION RING FASTENERS
TORQUED TO 25Nm

COMPRESSION GLAND

ARMOURED CABLE COMPRESSION CLAMP
KIT TO SUIT CABLE O.D UNDER ARMOUR

GLAND I.D COMPRESSION RING SIZE
45-50 50-68
50-56 50-68
56-62 50-68
62-68 50-68
68-74 74-80
74-80 74-80
80-86 86-92
86-92 86-92

M40x1.5 6H

CLAMP FASTENERS

REAR VIEW

ARMOURED HOUSING

ISOMETRIC VIEW

ARMOURED GLAND

EXPLODED

12.50 - 0.00
0.27+

4 PLACES

9.00 - 1.00
5.00+

ARMOURED GLAND
CUSTOMER COPY

Morne
New Stamp



CE-CE ( 0.4 )

CF-CF ( 0.8 )

CG ( 0.80 : 1 )

CH-CH ( 0.4 )

CJ-CJ ( 0.4 )

SECTION A-A

FLAMEPROOF PATH DETAIL

SECTION B-B

FLAMEPROOF PATH DETAIL

A

A

B

B

CG

CH

CH

CJ

CJ CK CL

Ex Ex

DIMENSIONS (Metric-millimetre-mm)

X.X

X.XX

 COPYRIGHT RESERVED

REVISION NUMBER

UNLESS OTHERWISE SPECIFIED

SIZE A3

DRAWN BY

    ALL SURFACES TO

UNLESS OTHERWISE NOTED

REVISION DATE REVISION DESCRIPTIONREVISION BY

PRODUCT NAME

APPROVED BY

DRAWING NUMBER

Ex124B_C007  

A.CASTLE
C.TAYLOR 1 20/04/2023 AC NEW REVISION

KonNx Africa (Pty) Ltd

FLAMEPROOF PATH

PCD 216.000.50
17.00 - 1.00

4.00+

END COVER BODY END COVER BODY

9.00 - 0.00
5.00+l = 

FLAMEPROOF PATH
25.00 - 0.00

5.00+L = 
FLAMEPROOF PATH

6.3

 0.25

REAR VIEW

END COVER

FRONT VIEW

END COVER

SIDE VIEW

END COVER

ISOMETRIC VIEW

END COVER

12.50 - 0.00
0.27+

6 PLACES

LABEL PAD

OPTIONAL PILOT ASSEMBLY

INSULATED END COVER
CUSTOMER COPY

Morne
New Stamp



Ex Ex

XOYNJ

DO NOT OPEN WHEN ENERGIZED
TO BE COMPOUND FILLED

MOENIE OOPMARK WANNWEER
   KRAG AAN IS NIE.

       

X

OYN

J

DO NOT OPEN WHEN ENERGIZED
TO BE COMPOUND FILLED

 
MOENIE OOPMARK WANNWEER KRAG AAN IS NIE.

        MENGSEL GEVULDE HOUER.

WARNING / WAARSKUWING

NOTE:
Labels are fixed by hammer

drive screws size 4 guage x 8.
Holes drilled body & cover

2.65 x 8 deep.
Material stainless steel.

KonNxKonNxEx db I Mb

VOLTS:12000 AMPS:400
IA No:MASC M/24-2113X

IECEX No:
MODEL No:
SERIAL No:

MODEL No:      SERIAL No:

VOLTS:12000  AMPS:400

Ex db I Mb IA No:MASC M/24-2113X

IECEX No:

WARNING / WAARSKUWING

DIMENSIONS (Metric-millimetre-mm)

X.X

X.XX

 COPYRIGHT RESERVED

REVISION NUMBER

UNLESS OTHERWISE SPECIFIED

SIZE A3

DRAWN BY

    ALL SURFACES TO

UNLESS OTHERWISE NOTED

REVISION DATE REVISION DESCRIPTIONREVISION BY

PRODUCT NAME

APPROVED BY

DRAWING NUMBER

Ex124B_C009  

A.CASTLE
C.TAYLOR 1 20/04/2023 AC NEW REVISION

KonNx Africa (Pty) Ltd

Ex db I Mb IA No:MASC M/24-2113X

DO NOT OPEN WHEN ENERGIZED
TO BE COMPOUND FILLED

MOENIE OOPMARK WANNWEER
   KRAG AAN IS NIE.

       

KonNx
VOLTS:12000  AMPS:400

WARNING / WAARSKUWING
MODEL No:      SERIAL No:

IECEX No:

STD BODY

PRODUCT DATA LABEL

END COVER

PRODUCT DATA LABEL

R/F L/L F/O BODY

PRODUCT DATA LABEL

LABELS
CUSTOMER COPY

Morne
New Stamp



Ex Ex

DIMENSIONS (Metric-millimetre-mm)

X.X

X.XX

 COPYRIGHT RESERVED

REVISION NUMBER

UNLESS OTHERWISE SPECIFIED

SIZE A3

DRAWN BY

    ALL SURFACES TO

UNLESS OTHERWISE NOTED

REVISION DATE REVISION DESCRIPTIONREVISION BY

PRODUCT NAME

APPROVED BY

DRAWING NUMBER

Ex124B_C010  

A.CASTLE
C.TAYLOR 1 20/04/2023 AC NEW REVISION

KonNx Africa (Pty) Ltd

FASTENER SCHEDULE

FASTENER TYPE ISO PN S/S (A2/A4-70 STAINLESS STEEL) PN ZINC PLATED NOTES

M2x0.4 x 3 GRUB SCREW (MIN Class 8.8) (6g) ISO 4026 PN1549 PN10215 TO ALIGN FIBER OPTIC LENSE INTO MOUNTING BLOCK
M3x0.5 x 6 BHSCS (MIN Class 8.8) (6g) ISO 7380 PN10195 PN10196 TO CONNECT DIODE/ RESISTOR WIRE TO RETAINING PLATE
M3x0.5 x 16 CSSHS (MIN Class 8.8) (6g) ISO 10642 PN10191 PN10197 TO FIX FIBER OPTIC MOUNT BLOCK TO RETAINING PLATE
M5x0.8 x 12 CSSHS (MIN Class 8.8) (6g) ISO 10642 PN1076 PN10198 TO FIX RETAINING PLATE TO BODY/END COVER
M5x0.8 x 16 CSSHS (MIN Class 8.8) (6g) ISO 10642 PN10192 PN10199 TO FIX REMOVABLE FLANGE TO BODY
M6x1.0 x 12 BHSCS (MIN Class 8.8) (6g) ISO 7380 PN10200 PN10201 TO FIX DMC ADAPTER CAP TO ADAPTER FLANGE

M8x1.25 x 8 GRUB SCREW (MIN Class 8.8) (6g) ISO 4026 PN10202 PN10203 TO FIX CABLE INTO CONTACT (PN1095 BLACK GRUB SCREW ALSO USED)
M8x1.25 x 12 BHSCS (MIN Class 8.8) (6g) ISO 7380 PN1180 PN10204 TO FIX INTERNAL EARTH BRACKET TO BODY & EARTH LUGS TO EARTH BRACKET

M8x1.25 x 16 SET SCREW (MIN Class 8.8) (6g) ISO 4017 PN10205 PN1742 TO FIX EARTH TO SWA CLAMP
M8x1.25 x 50 BOLT (MIN Class 4.6) (6g) ISO 4017 PN10206 PN1119 TO FIX COMPRESSION RING
M10x1.5 x 20 SHCS (MIN Class 8.8) (6g) ISO 4762 PN1391 PN10207 EARTH FIXING POINT BOLTS ON MAIN FLANGE FACE

M10x1.5 x 35 SET SCREW (MIN Class 4.6) (6g) ISO 4017 PN10208 PN1460 TO BOLT ALL HOUSINGS & ADAPTOR FLANGE TO BODY
M10x1.5 x 35 GRUB SCREW (MIN Class 8.8) (6g) ISO 4026 PN1281 PN10209 EARTH STUDS ON ADAPTER FLANGE
M10x1.5 x 40 SET SCREW (MIN Class 4.6) (6g) ISO 4017 PN10210 PN1171 TO FIX THE UA CABLE CLAMP TO HOUSING
M12x1.75 x 55 SET SCREW (MIN Class 4.6) (6g) ISO 4017 PN10211 PN1307 TO BOLT TWO BODY TOGETHER,BODY TO ADAPTER,BODY TO END COVER
M12x1.75 x 75 SET SCREW (MIN Class 4.6) (6g) ISO 4017 PN10212 PN1117 TO BOLT SWA CABLE CLAMP TO HOUSING

M3 WASHER (MIN Class 5) (140HV,200HV) ISO 7089 PN10213 PN10214 TO CONNECT DIODE/ RESISTOR WIRE TO RETAINING PLATE
M8 BELLEVILLE LOCK WASHER DIN 2093A PN1466 PN10113 TO FIX INTERNAL EARTH BRACKET TO BODY &  EARTH LUGS TO EARTH BRACKET
M10 BELLEVILLE LOCK WASHER DIN 2093A PN1473 PN10144 TO FIX EARTH TO MAIN FLANGE FACE & ADAPTER FLANGE  

M10 WASHER (MIN Class 5) (140HV,200HV) ISO 7089 PN10149 PN1091 TO FIX THE UA CABLE CLAMP TO HOUSING
M12 WASHER (MIN Class 5) (140HV,200HV) ISO 7089 PN10142 PN1500 TO BOLT SWA CABLE CLAMP TO HOUSING

M8x1.25 NUTS (MIN Class 5) (6H) ISO 4032 PN10125 PN1465 TO FIX EARTHS TO BODY AND SWA CLAMPS
M10x1.5 NUTS (MIN Class 5) (6H) ISO 4032 PN1472 PN1461 TO FIX HOUSINGS,ADAPTER FLANGE TO BODY
M12x1.75 NUTS (MIN Class 5) (6H) ISO 4032 PN10143 PN1463 TO BOLT TWO BODY TOGETHER,BODY TO ADAPTER,BODY TO END COVER

4G x 1/4" HAMMER DRIVES ASME B18.6.4 PN10151 PN1366 TO FIX LABEL TO BODY,END COVER
8mm x 36mm GROUND DOWEL PIN ISO 8734 N/A PN1601 (HARDENED PIN ONLY) TO ALIGN FIBER OPTIC LENSE

     
     
     

***THREAD CLASS TO ISO 965***

***COARSE THREAD PITCH TO ISO 262***

***NOTE***
OPTIONAL M12x1.75 HARDWARE MAY BE USED

MUST HAVE A MINIMUM YIELD OF 240MPa

FASTENER SCHEDULE
CUSTOMER COPY

Morne
New Stamp



SECTION A-A

DL ( 1 : 4 )

EARTH HOLES VIEW

DR-DR ( 1 : 2 )

SECTION D-D

SECTION B-B

A

A

EARTH HOLES

DM

D

D
DT

B

B

Ex Ex

DIMENSIONS (Metric-millimetre-mm)

X.X

X.XX

 COPYRIGHT RESERVED

REVISION NUMBER

UNLESS OTHERWISE SPECIFIED

SIZE A3

DRAWN BY

    ALL SURFACES TO

UNLESS OTHERWISE NOTED

REVISION DATE REVISION DESCRIPTIONREVISION BY

PRODUCT NAME

APPROVED BY

DRAWING NUMBER

Ex124B_C012  

A.CASTLE
C.TAYLOR 1 20/04/2023 AC NEW REVISION

KonNx Africa (Pty) Ltd

EARTH BRACKET

BODY
EARTH INSULATOR

PHASE CONTACT

EARTH BRACKET PILOT

M10x1.5 6H
2 PLACESEARTH

EARTH BRACKET

PHASE CONTACT

PHASE
INSULATOR

SIDE VIEW

BACK VIEW

PILOT
INSULATOR

PILOT
CONTACT

EARTHING DETAILS
CUSTOMER COPY

Morne
New Stamp



TOP VIEW

GUIDE PIN EARTH OPTION

SECTION A-A

EARTH CONTACT TUBE

EARTH CONTACT PIN

 

 

A A

EJ

EJ

A

Ex Ex

DIMENSIONS (Metric-millimetre-mm)

X.X

X.XX

 COPYRIGHT RESERVED

REVISION NUMBER

UNLESS OTHERWISE SPECIFIED

SIZE A3

DRAWN BY

    ALL SURFACES TO

UNLESS OTHERWISE NOTED

REVISION DATE REVISION DESCRIPTIONREVISION BY

PRODUCT NAME

APPROVED BY

DRAWING NUMBER

Ex124B_C013  

A.CASTLE
C.TAYLOR 1 20/04/2023 AC NEW REVISION

KonNx Africa (Pty) Ltd

GUIDE EARTH PIN EARTH CONTACT TUBE

BODY  

SECTION VIEW

EARTH PILOT CONNECTION

SECTION VIEW

COUPLER WITH EARTH PILOT CONNECTION

EARTH CONTACT PIN

EARTH CONTACT TUBEPILOT PIN

PILOT TUBE
INSULATOR

EARTHING DETAILS
CUSTOMER COPY

Morne
New Stamp



FRONT VIEW

SECTION EV-EV

FRONT VIEW

FIBER OPTIC RETAINING RING

SIDE VIEW

RETAINING RING WITH

FIBER OPTIC MOUNT BLOCK

EXPLODED VIEW

RETAINING RING WITH FIBER OPTIC MOUNT

EV

EVEx Ex

DIMENSIONS (Metric-millimetre-mm)

X.X

X.XX

 COPYRIGHT RESERVED

REVISION NUMBER

UNLESS OTHERWISE SPECIFIED

SIZE A3

DRAWN BY

    ALL SURFACES TO

UNLESS OTHERWISE NOTED

REVISION DATE REVISION DESCRIPTIONREVISION BY

PRODUCT NAME

APPROVED BY

DRAWING NUMBER

Ex124B_C014  

A.CASTLE
C.TAYLOR 1 20/04/2023 AC NEW REVISION

KonNx Africa (Pty) Ltd

FIBER OPTIC LENS
ASSEMBLY

INTERNAL GUIDE PIN

EARTH PILOT

FIBER OPTIC
RETAINING RING

FIBRE OPTIC MOUNTING BLOCK

FASTENERS

DOWEL PIN

FIBER OPTICS
CUSTOMER COPY

Morne
New Stamp


